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FINISHSCORE

Choose the correct sign (<, =, >) to complete the inequality / equality of logarithms. Do not use a
calculator.
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7. ln 7 � ln 5
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Wow, what a wonderful job! Just be careful about
an alcohol party before an exam. You could

damage your brain cells.

Great, now you can try solving one of the
Millennium Prize problems!

Super-duper!
That is what I call a fine job!

You are the champion!Wait! Sheldon might get jealous!Great. Next time you won’t make any mistakesGood job, but you are no Einstein yet!Almost there.
I’m sure you’ll even do better next time.

Great! Only millimetres
away from perfect.

You made some mistakes,
but you still deserve praise.

It’s not bad, but you can do better!Hang in there, there is space for improvement.Wasn’t the worst, but next time eat a piece of
chocolate and it will definitely be better.

Don’t worry, your result is more than half correct.It is not bad, but it could be better.You got it. Don’t throw in the sponge!You may not be a future Fields Medal laureate,
but you can do better on this test.

Ehm, you aren’t Jesus walking on water.
Get back on the ground!

Hey, it could be worse, right?Could be worse!There was a time
Einstein couldn’t count to 10 either.

For this test - the goose is in the oven!
Try another test.

Most of your answers
were unfortunately like π — irrational.

You’ll be better next time.

We should blame the weather!The awkward moment, when you finish a math
problem and your answer isn’t even one of the

choices. . . .
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